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Roll No………………….. 
 

M.COM.-10 (Master of Commerce) 
First Year, Examination 2012 

M.Com-04 
Financial Management 

�व�तीय�बंध 

Time : 3 hrs              Maximum  

Marks: 60 
 
The question paper is divided into three sections A,B, and C. Answer the questions 
as per the direction given in each section. 

नोट : यह ��न प� ‘क’ ‘ख’ ‘ग’ तीन खडं� म� �वभािजत है | ��ये
़
क खडं म� �दए 

गये �नद�शानुसार ��न� के उ�तर द� |   

Section –A /[k.M&d 
Long Answer’s questions 

(nh?kZ mRrjh; iz”u) 
 

Answer any two questions. Each question carries 15 marks.   2x15 =30 
fdUgh nks iz”uksa ds mRrj nhft,A izR;sd iz”u 15 vadksa dk gSA 

1. “The use of equity and borrowed capital depends on certain factors and 
there should be a rational proportion between the two”. In the light of this 
statement discuss the factors influencing capital structure of a company. 

“ �वा�म�व पूजंी तथा ऋण पूजंी  का उपयोग कुछ घटक� पर �नभ�र करता 

है तथा  इन दोन� म! "ववकेशील अनुपात होना चा)हए।” इस कथन के 

आलोक म! ,कसी कंपनी क. पूजंी सरंचना को /भा"वत करने वाले त�व� क. 

0या1या क.िजए।  
2. Why is determining dividend policy more difficult today than inthe lastdecades? 

Also examine the factors determining the dividend policy of a firm. 
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"पछले दशक� क. तुलना म!आजकल लाभांश नी�त को �नधा�4रत करना 

अ5धक क)ठन 7य� है? एक कंपनी क. लाभांश नी�त को �नधा�4रत करने 

वाले घटक� का भी पर89ण क.िजए। 
3. Every Manager has to take three major decisions while performing the 

finance function. Briefly explain these decisions. Also discuss the nature 
and importance of the finance function in the modern business. 

/�येक "व�त /बधंक को "वतीय काय; म! तीन /मुख �नण�य लेने होते 

ह=।इन �नण�य� को सं9ेप म! समझाये। एक आधु�नक 0यवसाय म! "व�त 

काय� क. /कृ�त तथा मह�व क. "ववचनेा भीक.िजए। 

 
4. i) Describe any three methods of evaluating capital investment proposals. 

�क�ह�ं तीन पंूजी �व�नयोग ��ताव� के मू�यांकन क� �व�धय� का वण�न क�िजए। 

 
ii)Apex Ltd. is considering to purchase a machine. Two machines X and Y 

are available   in the market. Cost of each machine is Rs 2, 
00,000.Expected cash inflows are as follows:- 

अपे#स %ल%मटेड एक मशीन खर�दन ेपर �वचार कर रह� है । बाज़ार म1 इस हेतु 

दो मशीन1 X तथा Y उपल5ध है । �6येक मशीन क� लागत7०2,00,000 है । 

अपे89त रोकड़ अ�त��वाह �न;न%ल<खत है - 

 

Evaluate the two alternatives according to Pay-back Method. 

अदायगी अव�ध �व�ध अनुसार दोन� �वक�प� का मू�यांकन क�िजए । 

 

Section-B ( [k.M&[k) 
Short Answer’s Questions 

 

Years  1 2 3 4 5 

Cash Inflows Machine X 60,000 60,000 60,000 60,000 60,000 

Cash Inflows Machine Y 50,000 60,000 80,000 60,000 40,000 
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(y/kq mRrjh; iz”u) 

 

Answer any 4 questions. Each question carries 5 Marks.               
4x5=20 
fdUgha pkj iz”uksa ds mRrj nhft,A izR;sd iz”u 5vadksa dk gSA 

 
1. How is shareholder’s wealth maximization a better objective than the 

maximization of profit? 
सAपदामूBयअ5धकतमकरनाकैसेलाभअ5धकतमकरनेकेउDेEयसे बहेतरहै? 

2. How does the globalization provide importance to the International 
Financial Management? 
कैसे वै=वीकरण अ�तरा�>?�य �व6तीय �बंध को मह6व �दान करता है? 

3. What is weightedaverage cost of capital and how is it computed? 

पँूजी क. भा4रत औसत लागत 7या होती है तथा इसक. गणना कैसे क. 

जाती है ?  
4. Sakshi ltd. has 8% redeemable preference shares of Rs 1, 00,000 @ 1000 

each, which are redeemable at the end of 10th year. These were issued after 
allowing 2.5% underwriting commission. Calculate the cost of preference 
share capital. Assume 30% tax rate. 
सा9ी %ल%मटेड A०१,००,००० म�ूय के ८% शोधनीय अ�धमान अंश (��त 

अंशA०१०००) �नग�%मत करती  है िजनका शोधन १० व1 वष� के अंत म1 होता है । 

इनका �नग�मन २.५% अ%भगोपन कमीशन पर �कया गया है। अ�धमान अंश पंूजी 

क� लागत Eात क�िजए । कर क� दर ३०% मान ल�िजए । 

5. A firm with no fixed operating cost has no operating leverage.”Do you agree 

with this statement? 

“ यGद एक स�ंथा म1 �थाई पJरचालन लागत �वKयमान नह�ं है तो पJरचालन 

उ6तोलक भी नह�ं होगा।”#या आप इस कथन से सहमत हM? 

 

6. Distinguish between permanent and temporary working capital. 
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�थायी तथा पJरवत�नीय काय�शील पंूजी म1 अंतर बताये । 

 
7. In a firm the materials used per week is as follows: 

एक उपNम म1 सामOी �6येक सPताह म1 �न;न �कार से काय� म1 लाई जाती है - 

Normal Usage (सामा�य माQा)       100 units 

Minimum Usage (�यनूतम माQा ) 50 units 

Maximum Usage (अ�धकतम माQा ) 150 units 

Re-order Quantity (पुन: आदेश माQा) 600 units 

Re-order Period (पुन: आदेश अव�ध ) 4 to 6 weeks 

Determine the followings- 

�न;न का �नधा�रण क�िजए - 

a) Reorder Level(पुन: आदेश �तर) 

b) Minimum Level(�यूनतम �तर) 

c) Maximum Level (अ�धकतम �तर) 

d) Average Level (औसत �तर) 
 

8.  What is meant by Trading on Equity?  

समता पर Tयापार नी�त से #या आशय है? 

 

Section-C/[k.M&x 
Objective Questions (Compulsory) 

oLrqfu’B iz”u (vfuok;Z) 
 

Answer all questions. Each question carries  1 Mark.    10x 1 = 10 
lHkh iz”uksa ds mRrj nhft,A izR;sd iz”u 1vad dk gSA 

Write True/False against the following. 
fuEufyf[kr ds lkeus lR;@vlR; fyf[k,A 
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1.  Financial management deals with the maintenance and creation of 
economic value or wealth. 
�व6तीय �बंधआ�थ�क मू�य या स;पदा के अनुर9ण और सजृन से सबंं�धत है। 

2.  According to MM approach, dividend policy has no effect on the share prices 
of a company. 
एम.एम.Uि>टकोण के अनुसार, लाभांश नी�त से एक कंपनी के अंश� क� क�मत� पर 

कोई �भाव नह�ं पड़ता है। 
3.   Capital Budgeting decisions are reversible in nature. 

पँूजी बजटन �नण�य पJरवत�नीय �कृ�त के होते हM। 
4.  Financial planning means deciding in advance the financial activities to be 

carried on to achieve the basic objectives of the company. 
कंपनी केमलू उW=ेय� को �ाPत करन ेके %लय े�व6तीय ग�त�व�धय� से सबंं�धत अ�Oम 

�नण�य %लया जाना �व6तीय �नयोजन है। 
5.     To accelerate the turnover of receivables, a firm may increase the discount 
period. 

    /ािGतय� के भगुतान म! शीHता लाने के �लये, एक फम� छूट क. अव5ध को 

बढ़ा सकती है। 

 
Select the correct answer option. 
सह� उ�तर 	वक�प का चनुाव क�िजए । 
6. Match the following Section A and B and choose the correct answer option as 

per the motives and needs of holding cash in an organisation- 

�न;न खXड ‘ए’ तथा ‘बी’ म1 Gदये जोड़� को  �कसी स�ंथा म1 नकद कोष के �योजन� 

तथा उनक� आव=यकताओ ंके अनुAप योिजत करते हुए सह� जोड़� का चनुाव कर1 - 
 

                   Section A 
            ख�ड ‘ए’ 

     Section B 
ख�ड ‘बी’ 

1. TransactionMotive 
�यापार स�ब
धी �योजन 

i. To meet the routine expenses 
�नय�मत खच� को पूरा करने के 
�कये  

2. Precautionary Motive ii.  Unforeseen fluctuations 
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आकि मताओ ंस�ब
धी �योजन अ�$या�शत उतर –चढ़ाव  
3. Speculative Motive 

स'ा स�ब
धी �योजन 
iii.  Unexpected changes in 

business scenario 
�यापा(रक पJरU=य म) अ�$या�शत 
प(रवत+न  

4. Compensating Motive 
��तकार, �योजन 

iv. Maintain minimum balance to 
attain services 
सेवाओ ंको �ा-त करन ेके �लये 
नूयनतम रा�श को बनाएं रखना  

 

a) 1(i) 2(ii) 3(iii) 4(iv) 
b) 1(i) 2 (iii) 3(ii) 4 (iv) 
c) 1 (iv) 2 (ii) 3 (iii) 4 (i)  
d) 1 (iii) 2(iv) 3 (ii) 4 (i) 
e) None of these 

7. Complete the given statement:  
Cash flow from Operating Activities + Cash flow from Investing Activities + 
Cash flow from Financing Activities =………………… 

a) Net Increase /Decrease in Cash and Cash Equivalents. 
b) Working Capital  
c) Fund Flow Statement 
d) All the above   

 

)दये गये कथन को पणू� क.िजए – 
संचालनग�त�व�धय� सरेोकड़ �वाह+�नवशे�Nयाओसंेरोकड़�वाह+�व6तीय 

ग�त�व�धय�सेरोकड़�वाह  =……………………………………… 

क) रोकड़ तथा उसकेसमक9म1व�ृZ तथा कमी  

ख) काय�शील पूंजी 

ग) कोष �वाह �ववरण  

घ) उपरो#त सभी  
8.  The formula for Economic Order Quantity(EOQ) is-----------------where ( A= 
stock usage,  
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C = cost of ordering, H= cost for holding stock per unit) 
a) √2AC/H 
b) √2ACH 
c) √2CH/A 
d) √AH/2C 

आ�थ�क आदेश माQा (EOQ)के %लएसूQहै  ( ------ जहाँ A   = �टॉकउपयोग, C=आदेश क�लागत, 

H=�कंध रखन ेके%लए��त यू�नटलागत) 

क ) √2AC/H 

ख ) √2ACH 

ग ) √2CH/A 

घ )√AH/2C 

 

9. Which of the following is not a feature of an optimal capital structure? 
a) Profitability 
b) Safety 
c) Flexibility 
d) Control 

�नAन म! से कौन-सी एक "वशेषता आदश� पूँजी सरंचना क. नह8ं है? 

क) लाभदायकता  

ख)सरु9ा  

ग)लचीलापन  

घ)�नयQंण 
10.  Among the following, which is/are the method/s used for analyzing economic 
feasibility of a project? 

a) Economic Rate of Return 
b) Domestic Resources Cost 
c) Effective Rate of Protection 
d) All the above 

 



M.Com-04 Page 8 

 

�न;न म1 स ेकौन-सी प�Z�त/प�Z�तय� Kवारा पJरयोजना क� आ�थ�क सभंाTयता का 

�व=लेषण�कया जाता है - 

  क) आ�थ�क �6याय दर 

  ख)घरेल ूससंाधन लागत  

  ग)�भावी सरं9ण दर  

  घ)उपरो#त सभी  

  


